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INDAFT=nA DCCAFT=NA, WAGEA=NA; AR SAFT=NAj MOAFT=NAj FUN=NA3 ACTAFT=N;

IDAFT =0, CLASA=INA; MAFT=NA; YAFT=nA; CoARA=NAjS
DAY9=R (8524); MO9=R(585Le); YRI=R(853.); FLARE=D;

IF R(2942+60)~=NA & R(4942.05)~§NA L R({4952664)-=NA
’ THEN BIRTH2=R(4942.66)%10000 +

R(494e04) % 10U + R(4942465); ELSE BIRTH2=999999;
IF(R(l.)=5OJ4 / THEN BIRTH2=081130;
IF R{L356.)-=NA & R(852.) =NA & R(851.) =NA & R(853.) =NA THEN 003.

DAY9 =22; M09 =13 YRY =695 END;
IF R(4942e6U)~=NA & R(4942¢61)-=2Na & R(4942.62)-=NA
TAEN BIRTAL=R (4942002110000 + R(4942.60)%100 + R(4942.61);
ELSE BIRTHLI=NA;

IF R(234)-=NA & R(22+)-=NA & R(24«)-=NA THEN INT8 =R(24.)%10000 +

. R(226)%100 + R(23.1); ELSE INT8 =NAj;
IF DAY9-=NA & - M09-=NA & YRI-=NA THEN INT9 = YRS =*10000
MJ9 *100 + DAYS 3 ELSE INTS =NAj;

IF R(1451e)-=NA & R(1452e)-=NA & R(1452.5)-=NA
THEN INTU =R(1452.5)%10000 +
R{1451.)%100 + R(14524); ELSE INTO =NAj;
IF R(2518e)-=NA & R(2519«)-=NA & R(Z2520.)-=NA .
THEN INTL =R(2520.)%10000 + R(2518.)*100 + R(2519.);
ELSEINTL =NAj;

IF R(33532e6)-=A & R(3331.)-=NA THEN INT2 =72%10000 +

R({3331,)%130 + R(3332.); ELSE INT2 =NA; ~

IF R(41514)-=NA & R(41504)-=NA " THEN INT3 =73%10000 +
K(41506)%100 + R(4151le)3 ELSE INT3 =NAj;

IF 3IRTH1-=NA & BIRTH2-=NA & BIRTAl=BIRTHZ THEN BIRTH2=999999;




START5=NA;
IF K(1924)-=NA & R(193¢)-=NA
| R(1924)%100 + 15;
IF R(192.) =NA & R(193¢)~=NA
: ' 7155

BINTBY=NA;
IF R(1027e)~=NA & R(1U28e)-=NA
THEN BINT89=xK(10£84)%10000 ;+
R(10276)%100 "+ 15;
IF K(1i027+) =NA & R(1028e)-=NA
THEN BINTB8Y=K{(10£8.)%10000 + 715;

SINTB8Y=iNA; :
IF R(10£9e)-=NA & R{1030e)-=NA
THEN SINT89=R(1030.)%10000°+
Y R(1029)%100/+ 153
IF R(1029«) =nA & R(1U30e)-=NA
THEN SINT89=R(1030.):10000 + 715,

STARTY=NA;
IF R(Y91le)-=NA & R(992.)-=NA
R(991e}%100
IF R(991«) =NA & x{992.)-=NA
THEN STARTY=x{99,4)%10000 + T15;

+

15;

DLUN6S=NA
IF R(18CGe)==NA & K(175.)-=NA
R{179¢)%100 + 15;
IF R(180e)m=NA & R(17Ye) =NA
" THEN DLUN6B=R(180.)%10000 + T15;

DLOLSEB=NNA;
IF R(183e)-=NA & KR{182e)~=NA
R(182)%100 + 15;
IF R(1i834)-=MA & R{182.) =NA
. THEN DLOL6B=R(183.)%10000 + 7153

DLUN6I=nNA; DUMI=NAS
IF R(9796)=1
IF K(97%9«)=1 & R(9BU«)I>R(8B51e)
IF R(9Y79e)=1 & R{I80.)>=4 & R(980.)<=12
IF R(980«)~=NA & UDUM1-=iA
R(980e 1100 + 15;
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THEN START8=R(193.)%*10000 +

THEN STARTB=R(193.)%10000 +

THEN START9=R{(992.)%10000 +

THEN DLUN68=R(180.)%10000 +

THEN DLOL68=R(183.)*10000 +

THEN DUM1=69;
THEN DUM1=68;
THEN DUM1=68;
THEN DLUN69=DUM1+%+10000 +

-




PLOLSY=NA;
IF R{9BZe)~=NA & R(98$.)4 Na
THEN DLOL69Y=R{(983.)*10000
) R(982e)%100 + 153

+
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IF R(98Z2«) =NA & R(983e)-=NA THEN DLOLA9=K(9834)%10000 +715;5

IF f(( 17760 )"=NA

o™

R(1775e)~=NA & R({LTT77«)-=NA
R(17754)%100 + R(1776a1)3
IF R(1779e)-=NA & R(17784)-=NA & K(1750¢)-=NA
' R(L7784)%100 + R(17734)3

IF R(1T4le)==NA & R(17404)-=NA & R{1742.)==NA
: K(L1740e)= <100 + Ril1741le);

IF n{1744e)-=NA € R(17434)-=NA & RL1T45¢)-=NA
OR(1743.)%100 + R(1744e);3

IF K(1Tube)~=NA £ R(17054)-=NA & K(1T7UTe)==NA
© R(1735)%1U0 + R(1705e13

IF K(iTU9e)-=NA & R(1708«)-=NA & r(1T10s)-=NA
R(17084)%100 + R(1709.);

IF R(1666e)~=NA € R(1065¢)==NA & R(1650T+)~=NA
K(1665)%100 + R(loboe)s;

IF x(1669<)-=NA & R{1668e)-=NA & R(1670.)~=NA
R(1668B«)x1U0 + R(1667e1)3

IF K(1628e)-=iNA & R{1627e)=~=NA & R(1629+)-=NA
R{1627«)%100 + R(1628e)3

IF k(i631e)~=NA & R(1630.)-=NA & R(1632+)~=NA
R({16306)%100 + R{(1631lel;

IF R(1555e)~=iHA & R(1584¢)==NA & R(15364)-=NA
R(1584)%:100 + R(15854);

IF R(28U3+)-=NA & R(2802e)-=NA & R(28U%4e)~=NA
R{¢2802.)%100 + R(2803.)3

IF R(2305e)-=NA & R{2305e)-=NA & R(2807.)-=NA
K(2805)%100 + R{(2800e)3

IF x(7709«)~=NA & R(2768¢)-=NA & R(ZT70.)-~=NA
R(2768.)%100 + R(2769);

IF K(27T2e)~=NA & R(27TT1le)-=NA & R(ZT73)~=NA
R(2TT1le):100 + R{277Z2e)3

IE R(27354)~=NA & R(2734«)-=NA & R(2736+)1-=NA
R{z7344)3100 + R(2735e)3

IF R(2T738e)-=NA £ R(2737e)-=NA & K(2739.)-=NA
R(2737)%100 + R(2738e)3

IF K(2T7Ule)==NA € R(270Ue)==NA & R{2702e)-=NA
R(2700e)%100 + R(2701le);

IF K(2T04e)~=NA €& R(2703¢)-=NA & R(2705+)-=NNA
R(2703)%100 + R(2704e);

[F K(2b654e)~=nNA & R(2653+)-=NA & RI(2655.)-=NA
R(26536)%100 + R(2054e);

IF R{56504)~=nNA & R(3558e¢)-=NA & R(3659.)-=NA
R(3658a)% 100 + R(365G.);

IF K(3653.)-=nA & R(3661le)-=NA & R(3602«)-=NA
R({5661)%100 + R(366Ze)3

1F R{36J1e)~=NA & R(302Ue)-=NA & R{(3622.)-=NA
R(Bde.)*lOO + R(3621le);

THEN BINTUS=R(1777.)*1000C
£LSE BINTOS5=NA;

THEN SINTO5=R(1780.) *1000¢(
ELSE SINTO5=NA;

THEN BINTO4=R(1742.) %1000t
ELSE BINTO4=NA;

THEN SINTU4=R(1745.)%1000
ELSE SINTO4=NA; .

THEN BINTO3=R(1707.) *1000:
ELSE BINTO3=NAj;

THEN SINTO03=R({1710.)*1000
ELSE SINTO3=NAj;

THEN BINT02=R(1667.)%1000
ELSE BINTO2=NA;

THEN SINTO02=R{1670.) %1000
ELSE SINTOZ=NA;

THEN BINTO1=R(1629.) %1000

ELSE BINTOl=NA;

THEN SINTOl=R(1632.)%*1000
ELSE SINTOLl=NA;

THEN STARTO=R(1586.)%*1000
ELSE STARTO=NAj

THEN BINT14=R(2804.)*1000
ELSE BINT14=NA;

THEN SINT14=R(2807.)%*1000
ELSE SINT14=NAj

THEN BINT13= R(2770.}-1000
ELSE BINT13=NA;

THEN SINT13=R(2773.)*100C
ELSE SINT13=NA;

THEN BINT12=R(2736.)*100C
ELSE BINT12=NA;

THEN SINT12=R(2739.)*100(
ELSE SINT12=NAj;

THEN BINT11=R(2702.) *100¢(
ELSE BINT11=NA;

TAEN SINTI11= R(ZTOS.) <1 00(
ELSE SINT11=nNAj;

THEN START1=R(2655.) *100(
ELSE STARTL=NA;

THEN BINT24=R(3660.) *100!
ELSE BINT24=NAj

THEN SINT24=R(3663.)%*100
ELSE SINTZ24=NAj;

THEN BINT23=R(3622.)*100
ELSE BINT23=NA;




IF

IF

Ir

IF

IF

IF

IF

R(3624e) ~=NA
R(35834)~=1A
R(35854)~=NA
K(JS%S.)%=NA
K(354B¢) "=NA
K(347Te)-=NA
R{44794)~=nNA
Kla4Bp2e)=NA

RI4441 4 )==NA

R("f‘?'?ao )= A

R{44U3e)~=NA
Ki4436e)~=NA
K(43654)-=NA
R(4308e)-=NA
R{42884)~=iA
K{L16U2e)~=iNA
R(26T24)~=NA
R(3517e)-=nA

R{3023e)~=NA & R(3625¢)-=NA
R(36234)%100 + R(36244)3
R(3582e¢)-=NA & R(3554+)-=NA
R(3582.)%100 + R(2583,);
R(3585%e)~=NA & RI(3587+)-=NA
R(3585)%100 + R(35864)};
R{3544¢)~=NA & R(3545¢)-=NA
R(35444)%100 + R(35454);
R(3547¢)-=NA & R(3549.)-=NA
R(5547¢)%100 "+ R(35484)3
R( 3‘?7_0. )"-’-NA Ea:'{ K(5478o ) ~=NA
RU34T6e)=1U0 + R(3477e);
R(44T8e)~=NA & R(44504)-=NA
R(4478.)1%130 + R(44794)3
R(4481le)~=NA & R{4483¢)-=NA
f (4481 «J=100+ R(44824) 3

CR(4440e)=NA & R(44424)-=NA

R(44406)%100 + R(444]14);
R(4450e )~=NA & R(4444,)~=NA
R{4450e)%100 + R(4443e);
R(44CZe)==NA & R{4406.)-=NA
RI4432)%100 + R(44034);
R(4405e }~=NA & R(4407e)~=NA
R({44U5e)%100 + R(44004e1);
R(4364e)~=NA & R(43664)-=NA
R{4304e)%100 + R(43654);
R(436Te)=NA & R(43069.)-=NA
K(436T7e)100 + R(4368e);
R{4287Te)==NA & R{42539.)-=NA
R(428T7e)%100 + R(4¢88e);
R(1503e)-~=Na & R(1504.)-=NA
R{16U2)%100 + R(1603.1);
R(2573e)=~=NA & R{26744)-=NA
R{26T72)%100 + R(2073e);
R{3516e)~=NA & R(3518.)-=NA
R(3516«)100 + R(3517a1);
R(4330e6)-~=NA & R(4338,)-~=QNA
R(43366)%100 + R(43374);

ragc T
THEN SINT23=R(3625.) *103¢C
eLSE SINT23=NAj; ,
THEN BINT22=R(3584.)*100¢C
ELSE BINT22=NAj;
THEN SINT22=R(3587.) *100¢
ELSE SINT22=NAj;
THEN BINTZ1=R(3540.) %i03(
ELSE BINTZ2L1=NA;
THEN SINT21=R(3543.)*100(
ELSE SINT21=NA;
THEN START2=R(3478.)*100¢
ELSE STARTZ=NA;
THEN BINT34=R(4480.)*100¢
ELSE BINT34=NA;
THEN SINT34=R(4483.) *100¢
ELSE SINT34=NA;
TAEN BINT33=R(4442.)*100¢
ELSE BINT33=NA;
THEN SINT33=R(4444.) *100!
ELSE SINT33=NAj;
TAEN BINT32=R(4404.)*100
- ELSE BINT32=NAj;
THEN SINT32=R(4407.)*100
ELSE SINT32=NAj
THEN BINT31=R(4366.)*100
ELSE BINT31=NAj
THEN SINT31=R(4369.)*100
ELSE SINT31=NA;
THEN START3=R(4289.)*100
ELSE START3=NAj;

THEN BCJC =R(1604.%%*10C
" ELSE BCJO =Naj

THEN BCJl =R{2674.)*100

ELSE BCJ1l =NAj;

THEN BCJ2 =R(3518.)%100

ELSE BCJ2 =NA;

THEN BCJ3 =R(43338.)%*100

ELSE BCJ3 =NA;

IF BIRTHLI=NA | BIRTHIKINTE | (INT3-=NA & BIRTHI>INT3) THEN GO 7O NAED1:;
IF K(5023.)=1 & R(le)-=4547 € R(lea)==3442 THEN GO TO SEC1;
IF (R(5U20e)=2 & INTO-=NA & R(14)-=2403 & R(le)-=4062 & ’
R(1e)-=28565 & Rile)==4665 & R(1e)~=1770 I RUle)=4547
THEN GO TO SECT2;
IF R(50¢Ce)=2 & INTOU=NA THEN GO TO SECLT3;
IF (R(5U2Ue)=3 & INT1-=iNA) | R(1le)=2865y 4665y 1770y 2403y 4062y 3442
THEN GO TO SECT3;
IF R(50£De)=3 & INTL=NA THEN GO TU SECT4;
IF K(30c0a)=4 & TiNT2==NA & R(le)-=20Ubs THEN GO TO SECT4;
IF K(50¢0e)=4 & INT2=NA - THEN GO TO SECT5;
IF (R(5U20Ue)=5 & iINT3-=nA) | R({1le)=2008 THEN GO TO SECTS5;
GU T3 LAST;
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SECTLl: IF (SIinT89-=nA & (fBIRTHIK=BINT89 & BIRTH2>BINT89) !

(BINTB89>=BIRTHL & SInNT89>0 & BIRTHIKSINTe9 &

5IRTA2>=SINT39))) | (BINT89=ivA & SINT89>0 &

SINTS9 > BIRTHL & BIRTH2>=SINT89) THEN DOj

INDAFT=R(1U24%4e); IDAFT=23; OCCAFT=k(1032.);

ARSAFT=R (10U26e); CLASA=R (1025415 MAFT=R(1027.); YAFT=R(1023.)3
GO T3 MOASN;

EnD;

IF k(13556121 4 R(13566)<=2 & ((START9=NA & BIRTA2>=INT9) | (START9-=NA &
SBIRTHL>STARTI) ) THEN FLAKE=1;

IF R(13564)>=3 & R(1356.)<=8 THeN DQO;

IF START9-=NA & ((STARTS>=8BiRTH1l & SIRTH2>STARTI) | (START9<=BIRTHl &.DLUNG6G>

£ BIRTHI<ULUNSS £ BIRTHZ>=DLUNGES) | (DLJUL69>0 € BIRTHLIKDLOLOY9 & BIRTHZ>=
DLOLAY)) & Rlle)-=4152 THEN FLARE=1; .

IE START9=NA & ((CLUNo9>0 & DLUNE>BIRTAL & BIRTHZ2>=DLUN69) | (DLOL6E9>O0 &
DLOLGI>IRKTHL &€ BIRTHZ>=DLOL69) | R(1.)=4353) THEN FLARE=1;

ENC;

IF FLARE=L THEN DO3
INOAFT=R(136245); UCCAFT=R(1358.); IDAFT=22;
HARSAFT=R(999e); WAGE=R(1364e); .
CLASA=R(1303e); MAFT=R(991e); YAFT=R(992.); ACTAFT=R(96l.);

IF R(1363.)=4 THEN CLASA=5;

IF R(13564)>=1 & R{i396.)<=2 & RI(T26e)>=1 & R(T726.)<=2 &
K(1576491>=1 & R{(1576e9)<=2 & STARTI=NA - THEN DO;
MAFT=R(192.); YAFT=R(193.);
eND;

G0 TJ MOASN;
END;




£ “5\- ~

SECT2: IF (aInTuS-=nNA & ({BIRTHI<K=BINTO5 & BIRTAH2>BINTO5) | (BINTO5<=8IRTAL &
SINTO5>0 & QIKTHI<SINT05,@ BIXTH2>=SInTOS))) | (BINTO5=NA & SINTO5>C & SINTOS
BIRTHLI & SIRTA2>=SINTUS) THEN D33

INUAFT=R(176Te); DLCAFT=r(1769.); IDAFT=21;

HRSAFT=R (1025 ) ; WAGEA=R(1773e);

CLASA=R(1T768Be); MAFT=RI(1T75e); YAFT=R(1777«);

oD Tu MOASING
EnD; )

IF (BINTCx~=NA & ((3IKTAl<=pInTU4 & BIRTH2>BINTO4) |
(BINTO4<=BIRTHL & SINTU4>0 & B3IRTHIKSINTO4 ¢
sIkTA2>=SInNTU4) ) ) | (BINTC4=NA & SINTO4>0 &
SINTUG>BIRTHL ¢ 0IRTR2>=5INTO4) THEN DU;
INUAFT=R(1732e); OUCAFT=R(173%.); IDAFT=20;
HRSAFT=R (173%.); WAGCA=R(1738.);
CLASA=R(1733¢); MAFT=R(17406¢)5 YAFT=R(174241);
60 T3 MOASN;

END;

IF (BINTO3-=NA & {((BIRTAl<=oINTO3 & BIRTHZ>BINTO3) |
(BINTO3<=3IRTHL & SInNTU3>0 & BIRTHIKSINTO3 &
SIRTA2>=SINTuU3))) | (BINTO3=inA & SINTO3>0 &
SINTO2>RIRTHL ¢ 3IRTA2>=SINTO3) THEN DO;
INUAFT=R (1697+); OLCAFT=R(1699.); 1IDAFT=19;

ARSAFT=R (1704« ) ; WAGEA=R(1703e1}5 ..
LLASA=R(16984); MAFT=R(1705e)3 YAFT=R(17074);
o0 T3 MOASN;

EiiD;

IF ((oINTu2-=nA £ ((BIRTH1I<=BiNTO¢ & 8IRTAZ2>BINTOZ) I (BINT02<=BIRTHl & SINT(
>0 & sSIRTHICKSINTO2 & BIRTA2>=SINT02))) | (BINTO2=NA & SINT02>0 & SINTO2>BIRTH
€ BIRTHZ2>=SINTOZ) | R(le)=3643) & R(1le)-=4952 THEN DO;

INUAFT=R(1657«); OCCaAFT=x(1659.); 1DAFT=18;
ARSAFT=R (156%e); WAGEA=R(1lo63e)3
CLASA=K(1658.); MAFT=R(1lo65.); YAFT=R(1667e);
L0 TJ MOASN;

EnD;
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IF (2INTOL-~=MA & ((BIRTALI<=5InTSl & RIRTHZ>BINTOLl) |
(BINTO1<=8iRTHL & SINTO1>0 & BIRTHIKSINTOl & BIRTHZ>=
SINTOL))) | (BINTOL=NA & SINTO1>U & SINTOL>BIRTHL &

124107 | R{Le)=4952 THEN D03

BIRTH2>=SINTOLl) | R(le.
INDAFT=R(lolde);
HRSAFT=R(1lo25e ) 3

ODCCAFT=R(1621e);
WAGEZA=R (16253

IDAFT=17;

CLASA=R(1620e); MAFT=R(1027e); YAFT=R(1629.);

o0 Ty MOASN;
£EnD;

IF R(2¢Que)>=1 & R(2£00.1<=2 & k((STARTO=NA &€ BIRTH2>=INTO) | (STARTO-=NA &

BIRTHZ>STARTO)) | (oCu0-=NA

INUAFT=R (1579 ) ;
WAGEASRK(22uBe1U])

OLCAFT=R(1552.);
CLASA=R(15381.);

CLASA=R(150l4); ACTAFT=R (2209413
IF R{1581le)>=3 & R{l3ule)<=4 /

IF oCu0-~=NA

MAFT=R(1lo0ce); YAFT=R(1604%e¢);

cNU;
IFr cCJ0=NA

MAFT=R(1584¢); YAFT=K(15364);

=ND3
G0 Ty MDASH;S

enD;

& BIRTHz>BCJ0)) & Kllel)n=40650 THZN DO;

IDAFT=16; HRSAFT=R(1590.1);
ACTAFT=R(2209.); CBARA=R(159541);
C3ARA=R{1595.);
THEN CLASA=5;
THEN DO;

THEN DO;




i rage o
SECT3: iF (pInTl4-=NA & ()BIRTH1<=BLNT14 t SIRTH2>BINT14) | (BINT14<=BIRTHL &
SIMTla>u & SIRTHLLKSINTla ‘& BIRTH2>=SINTL4))) |
(BINT14=nNA & SINT14>0 & SInNTi4> ’
RiRTHL & oIrRTAZ2>=SINTL4) THEN DUO;
INDAFT=K(2795.); OCCAFT=R(279Te); IDAFT=15; HRSAFT=R(280Ule); WAGEA=R(2800.]);
CLASA=R(2T96e); MAFT=R(230ce); YAFT=x(2804.);
o0 TO MOASN;
END;
IF (2INT13-=NA & ((oIXTHL>=pInT13 & BIRTHZ>SINTL3) | (BINT13<=BIRTHl &
SINT15>0 & 3IRTHIKSIMNTLIZ & gIRTH2>=S5INT13)}) |
(oInTL3=NA & SINT13>0 & SINT13>0IRTAl & BIRTHZ>=S1INT13)
' THEN D03
INUAFT=R(2761e); DCCAFT=R(2703.); 1DAFT=14; HRSAFT=R (27673
WNALEA=R(2T56%); LLASA=RI(275624); MAFT=R(2768s); YAFT=R(1544.);
S0 TS MDASHN;
EnD; v

IF (BINT12-=NA & ((aIkTHALI<=5I~nT12 & BIRTHZOBINTL12) |
(BINT12<=BIRTHL & SINT12>0 & BIRTHIKSINTLIZ &
SIKTA2>=SInNTL2))) | (BINT1Z2=NA & SINT12>0 &
SINTL2>C & SINT12>3IRTHL & BIRTH¢>=SINT1Z) THEN DJj3
INSAFT=R(2727«); OCCAFT=RI(2729.); IDAFT=133 HRSAFT=R(2733.) 3
WAGEAZR(2T32e); CLASA=R{2728e)F MAFT=R(27344); YAFT=R(2736.);
CLASA=R(2728e); [HAFT=R(2734e); YAFT=R(2T7364);
o0 T3 MOASN; : -

END;

IF ((oINTL1-=4A & ((8SiRTHL<=BINT1l1i & BIRTA2>BINT1l) |
(BiNT11<=BIRTHL & SINT11>0 & BIRTH1I<SINTIl & BIRTH2>=SINT11))) |
(BINT11=NA & SINT11>C & SINTL1>BIiRTHL & BIRTAZ2>=SINT1l) |
K(le)=4679) & RI(le)n=4253 THEN DO
INDAFT=R(2093e) ; OCCAFT=R(2695.); IDAFT=12; HRSAFT=R(2699.);
NALEAZR(26984); CLASA=K(26944); MAFT=R(2700.); YAFT=R(2702.);
S0 TO MOASN;

EnD;
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1F K{5203e)2=1 & R{322534)<=2 & ((STARTLI<uU & BIRTA2>=INT1l) | -
{STARTLI>C & BIRTH2>
STARTL)) | ((2CJl»0 £ BIRTHZ>BCJL) | {BCJ1=-10000 & BIRTH2>=INTL))
THeEN DU;
INDAFT=R (32605e); IDAFT=11; DCCAFT=R(3270.); HRSAFT=R{2660.); WAGEA=R(3290.1);
CLASA=RAZ651.); ACTAFT=R(2024e); CBARA=R(2565.) 3

IE k(265161223 & RIZ651e)<=4 . THEN CLASA=5;
IF cCJl==wA . THz=N DU; -
MAFT=R(2072e); YAFT=R(26T744);
eNU s ‘ 2
IF 2CJl=Na THEN 0J; :
MAFT=R (2655413 YAFT=RI(£5554); .
IF X(cbh55e)=-1 & RI{2200e1>=1 & KI(2207.)1<=2 & RI(3278.)=1 THEN DO;
I 5CJ0=NA THzN DO; - '
MAFT=R(15844); YAFT=K(15364);
IND; : ) : !
IFr oCu0-=nA THeN DJj
AAET=R(1502¢); YAFT=R(1604.);
END;
END;
IF MAFT=NA & YAFT=NA & R(2655e)==1 & R(13364)>=1 & R(1356.)<=2 & R(3277.)=1
TH=zN DU;
MAFT=R(991e); YAFT=R(992.);
END; » -
IF MAFT=NA & YAFT=NA & R(26554)=-1 & R(T726e)>=1 & R(T266)<=2 & R(3275.)=1
TH=N DO;
MAFT=R(1924); YAFT=R(193.);
. ENC3
EnD; ~

30 T3 MOASN;
EnD;




rage 1u

SECT4: [F (UINTe4a-=inA & ((BIRTHIK=3]INT24 &« SIRTA2>BINT24) | (BINT24<=8IRTH1 ¢
SIMi24>U 4 pIRTHIKSINT24 & BIxTA2>=SINTZ4))) | (BINT24=NA & SINT24>0 & SINT2¢
BIRTHLI & oIRTH2>=SINTZ4) THEN -DO;

INUAFT=R(3051e); OCCAFT=XK(3653¢); IDAFT=10; HRSAFT=R(3657.);
WAGEA=R(3656.); CLASA=R(3652.); MAFT=R(36583e}); YAFT=R(3660.);
60 TU MOASN;

ERND,

IF (BiINT23-=NA o ((oIxkTH1I<K=cIuTZ3 €& BIRTH2>BINT23) |
(3INT23<=BIRTHL & 3InNT¢3>0% BIRTHi<SINT23 & BIRTH2>=SINT23))) |
(BINT23=wA & SINT23>0 & SINT23>3IRTHL & BIRTH2>=SINT23)

: : THEN DU;

INUAFT=R(3513¢); OCCAFT=K(36154); IDAFT=9; HRSAFT=R(3619.);
WAGEA=R(3618.); CLASA=R(3614.); MAFT=R(3620e); YAFT=R(3622.);
GO0 TU MOASK; : :

EinD;

IF (BINT22-=NA o ((pIRTAL<K=pInT22 € BIiRTHZ>3InNT22) |
(BINT22<=BIRTHL & SINT22>0 & BIRTHi<KSINT22 ¢
BIRTAZ2>=SINTZ2))) | (BINT2Z2=NA & SINT22>0 & SINT22>BIRTHL &

BIRTHZ>=SiINT22) THEN DO;
INDAFT=R (357541 ; OCCAFT=R(3577«); iDAFT=b0; HRSAFT=R(3581l.);
WAGEA=R(3580e); CLASA=RI(55764); MAFT=R(358B2.); YAFT=R(35844.);
o0 Tu MOASKN;

END;

IF (BINT2.-=NA & ((BIRTHILK=5INT21 & BIRTHZ>0INT21) |
(BIMT21<=BIRTH]l & SINT21>C & BIRTHIKSINTZ21 & BIRTH2>=SINT21))) 1
(BINT21=NA & SINT21>U & SINT21>BIRTH1 & BIRTH2>=SINTZ1)
THEN DGj
T INUAFT=R(3537+); OCCAFT=R(3539.); IDAFT=7; HRSAFT=R(3543,); ~
- NAGEA=RI(35424); CLASA=R(3538¢); MAFT=R(35444); YAFT=R(3546,.);
o0 TU MOASN;
enD;
[F RI4100e)>=1 & ~(4100e)<=2 & (((START2=NA & BIRTH2>=INT2) | (START2-=NA &
BIRTHZ>STARTZ2)) | (sCJd2-=NA & BIRTHZ>BCJ2)) THEN D05
INCAFT=R (2473541 ; OCCAFT=R(34754),; 1DAFT=6; HKSAFT=K(3483,.);
WAGEAZR(36824); CLASA=RI(3474.); ACTAFT=R(3335.); CS5ARA=R(3488.);

IF R(3474.)>=3 & A(3474.)<=4 » THEN CLASA=5;
IF oCu2-=ivA THEN DO;
AAFT=R(351be); YAFT=KR(3518.);
eNuU;
IF oCu2=Na THeN DG;
MAFT=R(3476e); YAFT=R(3478.);
eENUS

O TUu MOASHK;
END;,
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St CTS. IF (oInT34-=N4 & ((BLRT%1< BINT34 & SIKTH2>BINT34) | (BINT34<=8IRTH1 &
SINT34>U & BIKTALKSINT34 & BIxrTHZ>= SINT54))) | (BINT34=NA & SINT34>G & SINT34
BIRTHL & pIRTA2>=SINT54) THEN D03

INUAFT=R (44713 OCCAFT=R(46T73e); 1DAFT=53 HRSAFT=R(4477e);
WAGEA=R(44T6e); LLASA=R(44T26); MAET=R(44T8e); YAFT=R(44504);
60 TJU MOASN;

EinD;

IF (2iNT33 ==nA & ((31RTHLI<K=BINT33 & BIRTH2>BINT33) | (BINT33<=8IRTrl & SINT3
>0 & 3IKTAL<SINT33 & plIrRTr2>= SINT33))) | (BINT33=NA & SINT33>0 & SINT33>8IRTH
& bIaTH2>=5148T53) . @ THEN DO;
INGAFT=R(44334); OCLCAFT=Kk(44354); IDAFT=4; HRSAFT=R(44394);
WALEAZR (4458405 CLASA=R(4434.); MAFT=R(4440.1)5 YAFT=R(4442.)
o0 Tu MOASNKN;
EnD;

IE (3INT32-=Na & ((SIKTHLIC=8INTS2 & SIRTHZ2>BINT32) |
(SINT32<=BIRTHL & >INT32>C & BIRTHI<KSINT32 & BIRTH2>=SINT32)1) |
(BINT32=nA & SINT32>U0 & SINT32>BIRTHL & BIRTA2>=S5SINT32)

THEN D03

INDAFT=R(4395«); OCCAFT=x(4397.); 1DAFT=3; HRSAFT=R(44014) 3
NAGEAZR(44U0e); CLASASR(4396e); MAFT=R(4402.1)5 YAFT=R(4404.) ;
60 TU MOASKNS

£iD;

IF ((3INT31-=nA & ((BIRTHI<=8INT31 & BIRTH2>BINT31) |
(BINT31<=BIRTHL & SINT31>0 & BIRTHIKSIWNT31l & BIRTH 2>=SINT311)) |
(BINT31=wA £ SINT31>0 & SINT31>BIRTHL &
RIRTHZ>=SINT31)) & KR(Le)==1280 THEN DO;
INOAFT=P (43574); OCCAFT=R(4359.); 1DAFT=2;5 HRSAFT=R(4363.);
WALEAZR(4302e); CLASA=K(43584); MAFT=R(4364.); YAFT=R(4366.); ~.
o0 TJ MCASW;
END;

IF K(49a44e1>=1 & R(4944.)<=¢ & (((START3=NA € BIRTH2>=INT3) | (START3-=NA &
BiRTHZ>START3)) | (5CJd3-~=iA & BIRTH2>5CJ3)) THEN DO3
C INGAFT=R(428=+e); OCCAFT=r(4286e); IDAFT=1; HRSAFT=R (42954 ;
NALEAZR(4294+); CLASA=R(42854); LBARA=R(4300.); ACTAFT=R (4255 )3
CLASA=R(4235.); (BARA=R(4300.1); ACTAFT=R{4259.);
IF R(42854)>=3 ¢ &142050)<=4 THEN CLASA=5;
IF oCJ3-=NA THEN DO3
MAFT=R(4336e): YAFT=R(4338e);
eND;
IF BCJ3=NA THEN DO;
AAFT=R (4287 4); YAFT=R(4289.);
eNU 3
END;

MOASM: IF R(1e)=0764s 27229 231Us 117069 4253 0663, 4730

. THEN DO; MAFTs YAFT, MOAFT=NAj;
=nNDs



ITF
IF
IF

Rlie)=ulgs |
K{le)=250¢
R{le)=3006 |
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THEN MAFT=1;
THEN MAFT=3;
THEN MAFT=4;

R(1.1=2145

R(1«1=5001

IF R{le)=26 | RI14)=3087 | R(le)=5930 THEN MAFT=3;
IFf X(le)=14T79y 2817y 4654y 4900y 1518
THEN MAFT=9;
IF rl{le)=2361 | R(14)=1597 | R(le)=4737 THEN MAFT=10;
IF Rliel=¢36l | R(1e)=1597 | w(le)=4T67 THEN MAFT=10;
IF R(le)=2301 | R(1e)=1597 | Rlie)l=4757 THEN MAFT=10;
IF RK(Le)=5039 | R{le)=4353 THEN MAFT=11;
IF RlLe)=4b42 THEN MAFT=12;
IF R(le)=3624 | R(le)=64178 THEN YAFT=NA;
IF R{lLe)=4671 THEN YAFT=63;
IF R(1e)=1078 | R(le)=2419 | R(le)=3494 THEN YAFT=65;
IF RELe)=2721 | R{14)=4900 | R(le)=4353 THEN YAFT=66;
IF RKlle)=3464y 259 1969 2148e¢ 25009 2017y 4442+ 5009, 1518, 3915
THEN YAFT=67;
IF Rlie)=443Ty 5042y 14734 15974 3006, 3807y 39304y 4654, 5001
’ THEN YAFT=68;
IF K{le)=2301y 3471y 36448 3792y 4119, THEN YAFT=09;
IF R(le)=4787 THEN YAFT=70;
IF YAFT>0 & MAFTYU & w{4942+62)-=iNA & R(4942.60)-=NA
THEN MUAFT=((YAFT - R(4942.62))=*
L12) + (MAFT - R(494246U)); - ‘
IfF K(141=1280 THEN MAFT=-1; -
IF R(1e1=1i280 THz=N YaFT=-1;
IF R(1e)=53374y 4178y 1078y 2419y 2721, 2840y 4671y 1125, 2009, 2645, 3231,
3585y 47219 3494e 3915, 1280 THEN MOAFT=-1;
IF MOAFT<O & MOAFT-=MNA THEN MOAFT=-1;
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LAST: I+ IDAFT=uU ’ THEN DO3

IF K{50c0e)=1 &€ ((R(1356«)=NA & (R(1958.)=2 | R{1958.1=NA)) |
(R(220Je)=NA € (R(31164)=2 | R{31lloe)=NA)) | (R(3263.)=NA &
{R(3ySJe)=1 | R(3959,)=NAa)) | (R(4100.)= NA & (R(4803.)=1
K{4833e)=NAY) | R(4G44+)=NA) THEN FUN=1;

IF K(50604)=2 & ((R{2¢200e)=NA & (x(31164)=2 | R(31L164)=NA)) |
(R(32634)=NA. & (R(5959.)=1 | R(3vy59«)=iNA}) | (R{41004)=NA &

{R(4603+)=1 | R(48J3.)=Na))_| R(4944.)=NA) THEN FUN=1;
IF K(5020e)=3 & ((R(3263e)=NA" & M(R(3959.)=1 | R(3559.)=NAJ)) | (R{4100.)=NA &
(R(48U3e)=1 | R(4003e¢)=nA)) | R(&4944e)=NA) THEN FUN=13
IF R{5020e)=4 & ((R(4100e)=RA & (R{48B03.)=1 | R{4803.)=NA)) | R(4944e)=NA)
THEN FUN=1;
Ir k(5020e)=5 & R(4G44e)=NA THeN FUN=1,;
IF FUNSL & Rlle)m=1U35e 2257 2302y 32079 3857e 4738¢ 4744
: . THEN DO;
CCLAFT=NA; INDAFT=NA; wA5E$=NA; CLASA=NA; ACTAFT=NA; CBARA=NA; MAFT=iNAj;
YAFT=NA; HRSAFT=iwA; IDAFT=-1; MOAFT=NA;
eNU3; . :
IF FUN=1 | R(lae)=1U339y 2257 23C2e 3207e 3857s 4738+ 4744
THEN DOj
UCCAFT==2; INCAFT=-2; WAGEA=-2; (CLASA=-2; ACTAFT=-23; CBARA=-2; MAFT=-2;
YAFT==2; HRSAFT=-2; MOAFT=-2; '
eNU;
END;
IF MJAFT=-1 THEN DO;
MAFT==1; YAFT=-1; -
END; :
R{5048,)=0CCAFT;
" R(5049.)=INDAFT; ~

- R{50506)=CLASA;

r{5051.)=WAGEA;

K{95052+)=HRSAFT;

K(50534)=ALTAFT;

R({5054.)=CARA;

S RI5055.)1=1uAFrT;
R(5055.)=MAFT;
R(305T.)=YAFT;

- rR(5058.)=M0AFT;

IF OCCAFT=-2 & INDAFT==-2 & CLASA==2 THEN DO; _
R{5059.)==-23
R{5060.)=-2;
END;

. ELSE DO,

X (5059,)=DUNCAN(UCCAFT+INDAFTyCLASA);
R(5000e) =BUSc(UCCAFT 9y INDAFTeCLASA); END;
NAEUl: STOP
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